
  INSTALLATION INSTRUCTIONS 
CHROME HIGHWAY BARS    FITS VTX1300 C/R/S 

PART NO. 55-307  

 
Revised 12-07-06             
TOOLS NEEDED: 10MM WRENCH 12MM WRENCH 
  14MM WRENCH 14MM SOCKET 
 
NOTE:  WE RECOMMEND USING THREAD LOCKER ON ALL BOLTS. 

 

NOTE:  WE RECOMMEND USING TWO PEOPLE TO INSTALL. 

 
1. USING 12MM WRENCH, REMOVE THE BOLT THAT IS HOLDING THE HORN ON.  UNPLUG THE HORN AND SET IT ASIDE. 
 
2. USING 10MM WRENCH, REMOVE THE TWO BOLTS AT THE TOP OF THE RADIATOR.  THESE BOLTS WILL NOT BE REUSED. 
 
3. USING 14MM WRENCH, REMOVE THE TWO OEM BOLTS HOLDING THE FLOORBOARD (VTX1300 R/S) OR PEG MOUNTS (VTX1300C) TO THE 

FRAME ON BOTH SIDES OF BIKE. 
 
NOTE: ON THE VTX1300C,  USE THE 10MM WRENCH TO REMOVE M6 SCREW ON RIGHT SIDE HOLDING THE TWO PIECES OF THE PEG MOUNT 

TOGETHER. 

 
4. PUT THE HWY BARS ON. INSTALL THE BOTTOM BRACKET TO THE OUTSIDE OF THE FLOORBOARD BRACKETS OR PEG MOUNTS USING M10-

1.25 X 55MM LONG BOLTS PROVIDED. HAND TIGHTEN. 
 
5. INSTALL AND TIGHTEN THE TOP RADIATOR BOLTS USING THE M6-1.0 X 45MM LONG BOLTS PROVIDED. HAND TIGHTEN. 
 
6. TIGHTEN THE BOLTS ON THE BOTTOM BRACKETS. 
 
7. REINSTALL THE HORN. 
 

 

Copyright© 2005 by Big Bike Parts, Inc.® No 

part of this instruction sheet may be reproduced 

without the written permission of Big Bike 

Parts, Inc.® 

 


